ks Eagd B B AR TR R & S5 R Z IR R - il X e Lok 2 LR — 2027078 Agﬂ‘% (A7 Bl R W
BB 4 FefE b s APk E(T R L
T A4 R LB RS Rt 4 Rl EtE e
B fF gy Az 206L R7\VA A 5% A THE A
P . Loom (2 PNE)) 10.60 (+1.3)|@# 12¥R(3) 10.84 (+1.3)|F0O  ER(3) 11.05 (+1.3)|AH &4 (3) 11.21 (+1.3)|F88  &5&(2) 11.26 (+1.3)|&EN LBEB) 11.28 (+1.3)| EH K& (3) 11.36 (+1.3)iEg =K(2) 11.36 (+1.3)
=% GR|FRE KM = H R E KM NFH MR AR au=Li) RE®E
shsa | 200m BE BARG) 2152 (+1.7)|EF  f235(3) 2177 (+1.7)|HA  ER(3) 2237 (+1.0)|=E  —#(2) 2251 (+1.7)| £& EAK(Q) 22.95 (+1.7)[FIE & (2) 22.97 (+1.7)|2M B2 2339 (+1.7)|&# X2 23.49 (+1.7)
=% GR[FETRERT = H HRE R EERE NF& au=L:) au=L:)
SHen 100m R E48(3) 49.87(JIl  #EK(2) 51.60(%)Il  FRA(3) 51.97 (& f=X(3) 52.96(=4& E#(3) 53.14[T0 #&/ N(2) 54.28|HHF KR (2) 54.66
R R EE KB R E KM RRET FRERT aN: +BHE]
snsi | soom wE KG3) 1:58.56|EA K1E(2) 1:58.91|8®1L E(2) 1:50.46/ 8 E(3) 1:59.69|H0  ==XEA3) 2:00.28(@ME FBEa(3) 2:02.15( k7" {E81(3) 2:02.97|FH #+EQ) 2:03.12
=% = H =% R ek =M N HET = 31
smer | 1500m Bt Bz 2) 4:01.71|tE#E E(Q3) 4:02.52|EHE  BHEAQB) 4:02.82|tE#E  AMG3) 4:03.09(&1L E(2) 4:03.38|MHA BEQR) 4:05.40(/11 F2H(3) 4:05.89[5E%E M (3) 4:07.88
BREE BRRE +BE +HHEr =% =H i REXF
snsi | s000m e KF(3) 15:01.98|1E& #(3) 15:04.99|/% Z=iE(2) 15:06.51 %11 BE(3) 15:07.30| &2 REAR) 15:11.00|#E BFQ) 15:16.32|17P9  1&3(3) 15:20.13| K11 #(3) 15:27.05
+HHE Hri HRFE A Hi HRZE BEiRFE TR
sien | Lo RAR REB3) w14.28 (+2.3)|#hlg  #EN(3) w15.32 (+2.3)|M#  KEF(2) wl15.34 (+2.3)[#=F%x 1&%£(3) w15.35 (+2.3)|2 HFH(3) w15.55 (+2.3)| EA&F  K#&#(3) wl15.71 (+2.3)|E  KAI(2) w15.85 (+2.3)
REKXF K BiIR¥HE RiEASE +HHET K R
i | 0omi AR BAG3) 53.91F#x 1H3(3) 5554|HE  #(3) 574838/ AHh(3) 59.65|FfE £E(2) 1:00.24| X & #A(2) 1:00.82|¥ & F=(2) 1:02.54
+HE EHS% 35 = H ALk JNHHET BRI +RHEEE
sri7e | sooomsc B EQ) 9:22.47(BN  BE2AN(2) 9:22.71|fR3R  HFQ) 9:40.05(18% HER(3) 9:53.57|F B AL 9:53.74R3R  EF(3) 9:59.87|& % K&E(2) 10:04.61|&k HEA(3) 10:04.82
TR wREM A RE&SHE + BT i) TR it
srisi | s000mw Et+E FFQG) 23:55.08|E& FA(2) 24:30.28|tkBE BN (3) 24:42.79|%5#  S=HE(3) 24:52.61|12 EE®) 27:18.47|/k5% 1K3B(3) 29:46.40[:AH #E#%(2) 29:52.64|HE 4E4(1) 29:57.05
£ +HHy R i BREM NiE i +HET
FUREKM 42.35(+ B &7 42 89| REAF 43.08|&H 43.43| E R A BT 43.46| = EALE 43.48)/\H 43.66|1a1% 43.86
2E —#iQ2) BEH EEQ) A Z(3) KR #EQ3) EV =€) Al B3ER) IO B/ NQ2) AT RQ@
5A6H | 4x100mR |EFH J&FR(3) R R#EQ3) B3 ENER) 8O ERQ) HE R2EQ3) R BA3) KFE  BBB(3) 2R —F(2)
NI -INE)) HHEF #HXRQ) WA KAB) EEE =BER(2) BE —E@3) i A €)) B £AGQ) BH G
FO BAER) AE BNE3) AAR #E3) &7 KQ3) BIE KE(3) =E ERB) IR SR(2) g 1AE2)
FUREERME 3:24.98| KA 3:30.47| &AL 3:31.08[FB R R T 3:33.50|1E 1% 3:34.32(+ 887 3:35.57[RASE 3:35.81)/i# 3:36.67
I HEKRQ2) il N (3) TN AEEE)) WeH  MBG) ER ERKQ) R E#EB) R’ HHE) IO B/ N(2)
5H8H | 4x400mR [A#d E4(3) a2 B0) ARE HREG) BEA EE(3) BH 83 BHF #HEKRQ2) T RER(2) MR R(2)
wml FRE3) B HR(2) oA YN ) % 1a03) ZR —FQ2) ma (2 IR BEB3) for EXQ)
BHHF JER3) R KEH3) TR OEHKQ) B BEXQ3) XHEHF RER) B EEQ) il E=¥EL(2) KFE BHE)
2 FHE) 1.95|H#B8 FRAKH(3) 1.90|#& 1a(3) 1.85|1H2 MEQR) 1.85| K& #(2) 1.80 NIgF £ (3) 1.80|E+T E(2) 1.75
snen | e an=1:] itk HmERT +BHT R =%% islapet:d
Et+E 323H3) 1.80
= H
RF EXRHQB) 3.90[#R FBA(3) 3.90|B% 0%(2) 3.60|/L  K#Ek(1) 2.90
5H7TH | Hembk
+HE Gis]ic =]l au=L:)
R - B IENG) w6.75 (+2.7)|#IE A (3) 6.59 (+1.6)| 5% 1H%=(3) 6.33 (+1.7)[;tE K2 6.31 (+1.6)[&£F #AKEQ) 6.29 (+1.3)[#0 BAQ) 6.26 (+1.7)|M& KB(3) 6.23 (+1.3)|== HAQ) 6.22 (+1.7)
REKXF 835 &% FOREKRME =M R EE K ¥R FOREKRMT
R —— HE HEQR) 13.20 (+1.6)|&1& BE(3) w12.88 (+2.3)| k& #(2) 12.84 (+1.6)|=lF 1&&E(1) wl12.78 (+33)| AR 2(2) 12.69 (+1.4)|=% WRQ) 12.62 (+1.6)|BE®)I =EEQGR) wl2.48 (+2.3)/hl RS (2) 12.45 (+1.8)
an=L:] RET IR RN + BHT N TR EE KB =H = H
R — HE FiE(2) 12.21|B8 #=(Q) 111140 BERER(3) 10.96|R BEH(3) 10.33|#0 Bm™(3) 10.03|\LE EA(2) 9.57|KE /INAKEB(1) 8.95iE:0 EM(1) 8.79
FRE KM R EE KM au=L) = H +HHET R EE R M R REmEE
T M REXREBQ3) 37.81KR Q) 36.46|Mi& HHE(2) 35.71( LA EAQ) 35.57(B8 FA(1) 35.14|AF EH(3) 34.28(#0 HEEA3) 33.91)1EER BEHEG) 33.81
+HHE HREM R E KM FORERME R E KB KRRk + BH] = H
I Sl #ER(3) 48.56|7EF  HERE(3) 43.06|FE% #F(=(2) 42.26|F1E —HEQ3) 39.13(=1E 222 36.77|KE F#(2) 34.60|Fl BA(2) 32.63|KE  TEM(3) 32.11
+ B HT RHE®E BRmET BRmET K7 R BRT BRmELT TR
I R EHQG) 54.88| 007k #(2) 53.76|3 0 EH(2) 51.85|FFR  #$(3) 48.28|tk4 A HIK(2) 48.04("T\L $RRER(3) 45.38[ihA  K(@3) 44.44|5% R N\B@3) 43.40
=H BiRFE R mHE T EE R =% SRl an=L:)
ES A1) 4776|%BIR  AREE(1) 3588 FEF(2) 3571| T BIE(2) 3410|F% F#(2) 3403|RHE  #A(Q1) 3010
5/6~5/7| \FdiitL
R EE R EmpE NFAE =% NF& R E K
5H6H 100m 11.23 (+1.4) w 11.64 (+2.1) 12.46 (+1.4) 11.94 (+1.4) w 11.86 (+2.1) 11.64 (+1.4)
5H6H | Bk 6.35 (+1.1) 5.03 (+0.9) 5.62 (+1.0) 5.50 (+1.0) w 5.52 (+2.5) 4.03 (+1.6)
5H6H | fatux 9.29 8.38 8.38 6.68 7.25 9.57
5A6H | 400m 52.28 57.26 57.23 56.25 57.32 57.24
5HTH 110mH 16.68 (+1.4) 19.55 (+1.4) 20.89 (+0.5) 18.99 (+1.4) 19.65 (+0.5) DNF
5H7H R0 37.57 33.18 36.81 10.79 28.54 33.64
5ATH | Emk 1.70 1.45 1.50 1.55 1.50 1.55
5A7H | 1500m 5:04.01 5:11.49 5:04.55 5:05.96 5:37.58 5:45.42




ks Eagd B B AR TR R & S5 R Z IR R - il X e Lok 2 i — 2027578 Lgﬂé”‘% A S R R
BB 4 FefE b s ALER AT FEH et
T A4 R LB RS Rt 4 Relle bFis e
B £+ &R JTivA 2L 3L ¥iv 5L 6L ThE 8L
=g EiE(2) 12.56 (+1.2)|\EZ2 BEREB) 12.65 (+1.2)|&F FuLa(3) 12.90 (+1.2)|F)N »<H(3) 13.04 (+1.2)|&=A  HARQ) 13.17 (+1.2) &R £w7(2) 13.21 (+1.2)
S I B P BmH TEEM L £ SR AN
=R EE(Q) 25.76 (+1.7)|#k  =#EH(3) 26.09 (+1.7) 158 3BEQ) 2647 (+1.D)[&F WFLaE) 26.66 (+1.7)[ZF)NI H<YQ3) 26.75 (+1.7[ER £wi(2) 2747 (+1.7) AR H5(2) 2756 (+1.7)|MEE #H%@3) 27.58 (+1.7)
R B £ +a8E ERER L SR AR £ EPE
oo | soom =)l H4£F(3) 59.86)3&itr TE(2) 1:02.04[ LA ZFK(2) 1:02.19(#8# #AG) 1:03.85[th& HHTA3) 1:04.28(t£8 X7m(3) 1:04.29|575 LFEG) 1:04.87|FE  2=(3) 1:05.03
REKXF R EE KB R E KM N HRi + R =% = ALk
snsi | soom LE BEQ) 2:19.70|158 BE(2) 2:24.29\LE  FK(2) 2:26.19| 1A =1E(2) 2:27.06|%%  FN(3) 2:29.35(F0E #hFE(3) 2:29.92)/&  FIF(1) 2:30.23|FEB  HHEE(1) 2:31.99
R = HALE HTHSEE KB +BHT =% 835 REKXF +BHT
PAULINE  WANJIKU(1) 4:28.24( LA ETE(Q2) 4:47 84(R1L EHEE(3) 4:50.17( 1L FH4H3) 4:52.86|7EF FEXQ) 4:54.26(B8 HkF(2) 4:55.99)3 % #ER(3) 4:58.87|\LA  =HE(2) 4:59.49
SROR | 1 e GRlEmER R +aar £ N ERAT +aAr
PAULINE  WANJIKU(1) 9:19.53|1LA H4E(3) 10:12.19|ix B 74(2) 10:12.44(pTER FNE(2) 10:14.64|B8 #kTF(2) 10:17.08(B3 E(3) 10:22.04 %1k E#3(3) 10:22.64 385 #2<(3) 10:23.60
e 0o0m TR GR|+HHT =L =L N R TR REKXF
LE IRER) wl4.35 (+2.2)|\EE B\REG)  wldbs (+2.2) %EQ) w15.80 (+2.2)|#k OHL(2) wl6.25 (+2.2)|B % EFI(3) wl16.34 (+2.2)|BE MWaxik(l)  wle.82 (+2.2)|Hr BHQ) w18.84 (+2.2)
PAOH | 100y oy & +a8 il S +am ~BE
ik BEG3) 1:04.02(#F  S=#EMH(3) 1:04.82[%)1l H4F(3) 1:06.74| L&A (3) L07.11[FE #@M) 1:08.99[#E E#RE(3) 1:09.90| &1 BHEEG) 1:14.21
AT 00w + BH] [ REKXF HRE KM = EALE = B E 5
sien | s000mw ) 25:38.71| k&, HFI(Q) 25:52.84| B THE(2) 27:48.77|&X BE£E®R3) 28:58.26| k& M=(3) 31:55.54(185E /E(3) 32:58.94 E%F LuR(1) 43:40.06|388 Y £5(2) 43:41.11
+ BHT +HHET R AN=E:] TR 5 BRI TR TR
+BE 49.7T4| RAKXF 50.04 | ¥R EE A 50.10| & 50.29| = ALK 52.09)/) 52.80|=H 53.34
wmE ERQ) FE EK(2) mE FE0) #mA BHEZEEQ) w8 #Ei0B) #H 'AQB) BB w5(1)
5H6H | 4x100mR |58 32/E(3) B EiE2) ER wY i) ER BAEQD) FE Q) “H BEEB) EH EAQ)
EBE 3h(3) MAF  FIHQ) BREB  ERAR(3) mAR HH(2) EEs TEQ Al EE(D) g 5575(3)
L& IRE2) Bl #4F03) BIR EwR(2) mFEEA(3) TE #&@G3) M HL(2) Ktk HDAQ2)
HBE A 4:08.48| RFAAF 4:10.64| &£ 4:13.17 & EAtE 4:14.06| % R 4:15.90| =% 4:18.59| R AR 4:23.99
i TEQ) T ®iE(2) EE BEQ) P 2E0) £F FWAaEB) EH OEEB) SH BEQ)
5A8H | 4x400mR |l lg &8 (3) Bl H4F3) o SEREA(3) wE EiR3) 5 FR(QO) ) R3k3) BE #%Q2)
R ZWR(Q) FE FEKQ) BAR HHQ2) TE #&(3) PAULINE  WANJIKU(1) 28 EF(Q) E tmEQ)
WHE ZFK) NIE - FTF(L) BE FEXEQR) HE EEQ) i A EE OENE) RE HRQ)
i 55503) 146|7TH  MEEE(1) 145|HFR  FE(2) 1.45|%% A Q2) L40(m~  2BR(1) 1.35|F&R %) 1.35|EH ®H#(1) 1.30
sien | e =H izl TR EE KRBT P VII=E: EEPE L HRRE
A #WaE) 1.30
AN=E:]
=E B 2.80[ LA £EHQ) 230[z &7 #xQ) 2.30[AML BEQ) 1.60
5A6H | HeaEpk
+HEE ErhE FTHS EE KB HRE KM
e | e B mBiE) 5.36 (+1.4)|H2 #%&@3) w5.00 (+2.3)[&H  FK(2) 490 (+1.7)|®R ##E=(3) w79 (+2.8)|&Z \(3) 4.77 (+0.7)|FE  EK®Q3) 473 (+1.3)|xEBH HFRQ) 4.73 (+1.5)|K% MER(2) 4.62 (+1.5)
+HE =%% TR E KB HRE KT R + R iRk EEPE
e |BR BEFQ) 1044 (+1.6)| %% ¥913) 10.40 (+1.4) 178  ThFi(3) 10.22 (+0.8)|#20% AZ(3) w10.18 (+2.8)|#1E ERX(3) w9.86 (+3.0)[A0 ZE(1) 9.72 (+1.3)[EAR  RFRIR(3) w9.58 (+2.9)[BR #E%=(3) w9.46 (+2.9)
e = EHle% R E KM = + BHET R EE K =£% FOREKRMT
sirn | s BEE FR() 10.16|=5R &HE(3) 9.35(pHEE  F4 (1) 8.52| bk ER(1) 8.16[m  HeE() 8.05|/vt & Tm(2) 7.42\HmEREE (D) 7.29|=2@ BEQ) 7.28
FRE KT +HHET HTHSEE KB FrRERMT N 1 +RHEE =%
sasn | =R OEEEQ) 34.74|EHA Q) 30.55(FTE8 %24 (1) 30.45|1llE  BHE(3) 21TURBI () 23.11|17BE EA() 20.74BH HHIEQ) 17.92|MiL B4 %(2) 15.71
an=L:] [S1EEBle AR E KT AR E Hri R EE R M /N = H
o BIER  HKEQ3) 38.25|BE%  #(3) 37.07|&RM  HEQ) 29.12
ESENEE AN FRRRT
shen | oo Ml Ba4%(2) 34.16|TH ZER(Q) 33.14|Fl FTA Q) 31.04|18E E&E(3) 27.49|E87 HIA(3) 25.68|#%E  EHE) 23.00|/hHE TELREL(2) 2293|118 UvHhBQ) 22.67
= H REXF HTHSEE K K JNEHET TR EE KB R ERMT NB
LR
100mH
E Bk
ot
200m
Bk
SRS
800m

w (wind assist) : IBJEAZ%E
DNF (Did Not Finish) : ¥t #EHE




welts KR

SHSFENRESFIRESZHXEFERS L - PEtXE EHRAR

RETERELHNS
FF
[[=Kiva F—L BEHER =R 200m 400m 800m 1500m 5000m 110mH  400mH 3000mSC 5000mW 4x100mR 4x400mR ESBk ESNES TEMEBK =Bk A% A& N1 YR \EHRR
100m

1 +HHET 128 2 142 2 5+6 8 4 8 4 1+7 7 3 5+8 5+8 5+8 4+6 2+8 8 1
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7 <[] 38 7+3 6 8 7 7

8 R M 26 1 5 3 447 6

9 RESH 25 5 7 5 2 6
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13 FREBRT 18 4 5 6 3

14 N 15 4 3 4 4
15 = AL 14 5 3 6

16 R T 13 2+5+6

17 KT 12 5 7

18 EEHE 11 4 E
19 =HE 7.5 4 3.5

20 AT 7 3 4

21 INFEA 6 6
22 A=k 6 2 4

23 N 6 3 2 1

24 SHE 5 5

25 K@k 4 1 3

26 AN:::: 3 3
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28 T F 2 2 2
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18 ey 8 4 4
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